

(内) No.13

$$\begin{cases} y'' + y = 0, & \textcircled{1} \\ y(0) = 0, y'(0) = 1. & \textcircled{2} \end{cases}$$

の総解を求めよ

と仮定

$$y = \sum_{n=0}^{\infty} a_n x^n \quad \textcircled{3}$$

の形の解がある。  $\{a_n\}$  を決定せよ。

③ を ① に代入

$$\left( \sum_{n=0}^{\infty} a_n x^n \right)'' + \left( \sum_{n=0}^{\infty} a_n x^n \right) = 0$$

項別微分 //

$$\sum_{n=0}^{\infty} n(n-1)a_n x^{n-2}$$

*(n+2)(n+1) ↑ mとおく.*  
*n=2 ← n=2*  
*a\_n ↑ m+2*

$$\sum_{n=0}^{\infty} (n+2)(n+1)a_{n+2} x^n$$

*再び m を n と書き換える.*

$$\sum_{n=0}^{\infty} \left\{ (n+2)(n+1)a_{n+2} + a_n \right\} x^n = 0 \quad (\text{恒等式})$$

$$\text{一般に } \sum_{n=0}^{\infty} c_n x^n = 0 \quad (\text{恒等式}) \Rightarrow c_0 = c_1 = c_2 = \dots = 0$$

よって

$$(n+2)(n+1)a_{n+2} + a_n = 0, \quad n=0, 1, 2, \dots \quad \textcircled{4}$$

としよう。

$$y(x) = a_0 + a_1 x + a_2 x^2 + \dots \quad y' = a_1 + 2a_2 x + \dots$$

$$\underline{y(0) = a_0} \quad \underline{y'(0) = a_1 = 1}$$

$$\text{これと (2) より } a_0 = 0, a_1 = 1,$$

$$(4) \text{ より}$$

$$a_0 = a_2 = a_4 = \dots = 0$$

$$(4) \Leftrightarrow a_{n+2} = -\frac{a_n}{(n+2)(n+1)}$$

よって

$$a_1 = 1, \quad a_3 = -\frac{a_1}{3 \times 2} = -\frac{1}{3 \times 2} = (-1) \frac{1}{3!}$$

$$a_5 = -\frac{a_3}{5 \times 4} = (-1)^2 \frac{1}{5 \times 4} \frac{1}{3 \times 2} = (-1)^2 \frac{1}{5!}$$

$$\vdots$$
$$a_{2k+1} = (-1)^k \frac{1}{(2k+1)!}$$

以上より

$$y = \sum_{k=1}^{\infty} \frac{(-1)^k}{(2k+1)!} x^{2k+1}$$

これは  $\sin x$  の Taylor 展開であるから  
解は  $y = \sin x$